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QUESTION 1

What is the key component of a Next-Best-Action strategy? 

A. Strategy 

B. Work flow 

C. Decision table 

D. Predictive model 

Correct Answer: D 

 

QUESTION 2

The Prioritize component sorts offers in _____________. 

A. descending order only 

B. ascending or descending order 

C. random order 

D. ascending order only 

Correct Answer: C 

 

QUESTION 3

Which statement about predictive models is true? 

A. You need past experience to create a predictive model. 

B. They need unstructured big data. 

C. They are always associated with a proposition. 

D. They need to be specified in a data attribute. 

Correct Answer: A 

 

QUESTION 4

Two results of an adaptive model are ____________. 

A. Priority and Propensity 

B. Priority and Evidence 
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C. Propensity and Performance 

D. Propensity and Rank 

Correct Answer: C 

 

QUESTION 5

To implement an eligibility criteria you use a ____________. 

A. Eligibility 

B. Segment 

C. Switch 

D. Proposition Filter 

Correct Answer: D 
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